(meehim de £ rnbemo 2

R24 Z

Bz dx® 140 -9m A5 4 bt p1- b
pz nt - -44

B Yo -3x2 =42 + P —1n?=A24¢ 35

Bz =Sat +11x ~15

c = (3n) —1x3uxS+5°

C = sz' - 30» t+25-

o = ['}Jt)t--li

D_: ‘!axt’é

ro () e Txtnx3 #3% o (ANt 4
¢

cieo’s
4)6‘: x:-6xt+9 —(2‘2-—%&—9¢ #2)
€= 22 _ Gt - X+t s+ 2-1

-3n .

&=
t) bn pose xz A0000 .
¢= (Amopo -3) = (400000 ~a) (X000 ]
- 94991 — 99999 » 99999
2 - 3xA0000 ¢t}
= 300000 ¢+ 1
= - 299993.

daoh

Bt = (Sn vas)?
- Wt ason #2215

ACY + Atz (3x49) + (4 a2)?

- 92" FS5ha 71 ¢ !{x'l 4_3(.”;,[44
=25xt L ASox +225.

Dme pet=helrpct p e Fort 3¢ .
Y apth ba vcqmogue du Kénome do Pylhecgore € hengh

G: ' +1ln 19 "'Jf"-f-l)z-#[
Lol \0605
Fz 3x(a-32) H= (7%) = Tx2ey3 +3° 1. = 36Tl %" L 19 -3 -4 + bzt
6= (bn)*-s* H o= (2x-3)° €z Sa*=-39x +54.
WAtntxls (6-2)7

r = (ane3s) (2%43) +(nta)]

# ((4 +5 (LUC-’f)
d i T = (t3)(3nt3)

Ve (zx-;)[ (?x—s’)-—(?wxm)_]
7= (m-s1(1ne-§ -3-1)
7 = (e ) -2~€)

¥ s
b ¢ = (6-0)% + (3-4n)(&-x)
c= (e-x)[ (6-x)4(3-4n)]

€ = (6-—%)(9-—51).

2. €E=o € [("7‘)(6“5'1):-0
anwdw'f' de fa¢%s a,lf u«f s1 Lun Jco fﬂzm{a}m(j

' = a”" G-Sa =
gﬂl’ [gfz_?‘i S %O}@

"9%:-—9



